PROFESSIONAL EXAMINATION

{ Professional ] BOARD )
Cb@mminquon Police Constable Recruitment Test -
boord 2017 (Supplementary)

27th Sep 2017 09:00AM

Topic:- General Knowledge and Logical Knowledge

1) Who has been selected as the new Vice Chancellor of Nalanda University? /Etl'el. I frg B[S ]

fayferermera &1 a1 9159 iR (A4 SuPpef) Frge fear g2
1. Vijay Bhatkar / [aoIg HeaR

2. Sunaina Singh / g 8

3. George Yeo / SiTst J3ft

4. Anup Bhatnagar / 3{-JU HCANNIR

Correct Answer :-

« Sunaina Singh / g1 R

2) city will host the 105™ Indian Science Congress (ISC) in 2018. / TR, 2018

# 1057 YRH A F109 (Smsvasdt) & Aoarh s
1. Bhopal / Hara
2. Surat / Jd

3. Raipur / TIYR
4. Hyderabad / %azlala

Correct Answer :-

e Hyderabad / éaﬂala

3) Who is the Chief Minister of Uttarakhand state? / IERTES IS %? 'ﬂ@'ﬂ?ﬁ ﬁq %?
1. Harak Singh Rawat / GR&P ﬁre’ [dd

2. Prakash Pant / UhTRI Ud

3. Yashpal Arya / GRIUTA 3T

4, Trivendra Singh Rawat / [ECE ﬁl_s' dd



Correct Answer :-

o Trivendra Singh Rawat / A= Rig Iad

4) If three unbiased coins are tossed, then what is the probability of getting one head? / ?T% Gik|

froner Rree| @ STTAT w11 €, 9 v 2 ur g1 &t o wiikiean g2

1
?
1. e
2
, 8
L
, 4
)
g
4,

Correct Answer :-

B0 | L

5) If the third day of a month is Monday, which of the following will be the fifth day from 215¢ of that

g%ﬁﬁmm%@w%,ﬁmﬁﬁﬁqﬂﬁﬁﬁnﬁmﬁm

1. Tuesday / HITAR
2. Monday / IR

3. Wednesday / §YdR
4. Thursday / J[dR

Correct Answer :-

» Wednesday / §UdIR

6) Which of the following state governments announced a complete ban on polythene bags in May

%017? / Frafafaa o | f5a 3a WReR A 1% 2017 A uiferd= 9 wR gof wfdey &) eiwon &

1. Chhattisgarh / @T&‘ﬂﬂ'ﬂ?{
2. Maharashtra / HeIRTS¢

3. West Bengal / Ui S



4. Madhya Pradesh / H&J qex

Correct Answer :-

o Madhya Pradesh / H&J e

7) Which country hosted the T20 Blind Cricket World Cup in 2017? / 2017 § f¥ 3=1 1 0 <SS

fpdhe ae8 HU B AVEH] P12
1. Australia / @ﬁeﬁﬂjﬂ
2. India / HIRd

3. Sri Lanka / &t @il
4. Pakistan / OTfch T

Correct Answer :-

e India/ HRd

8) If ENGLISH is coded FOINLVL, then how is HISTORY coded? / Of¢ ENGLISH®Y FOINLVL T
Hifed fpar a1 8, Y HISTORY D! $4 Hifed far w2

1. JUVRUD

2. JUWRUC

3. IJUVRUC

4. IJUVRUB
Correct Answer :-
« IJUVRUC

9) If STATUE is coded NOVOPZ, then how is DIRECT coded? / Gf¢ STATUE® NOVOPZ®
HIfed foar STa1 8, 9 DIRECT S H4 difsd fvar w2

1. ZDMZX0
2. ZCMZXO0
3. YDMZXO

4. YCMZXO0

Correct Answer :-



If CORNER is coded GSVRIV, then how is CENTRAL coded? / gfé CORNER &1 GSVRIV I

PIfSd {1 STa1 8, @ CENTRAL #) $Q HifSa far S
1. GIRXVEP
2. GNFJKER
3. DNFJKEP

4. DFOUSBM

Correct Answer :-

* GIRXVEP

11) George is fifth from the left, and Peter is twelfth from the right end in a row of children. If Peter
shifts by three places towards George, he becomes tenth from the left end. How many children are

there in the row?/aﬁﬁﬁﬁ,ﬁﬁwﬁm%aﬁ?ﬂamwﬁw%l ‘Tﬁtﬂa,
;ﬁ#aﬁemnzﬁq;mFaaasagaT%aﬁaganQﬁﬁ%i#a¢ﬁﬁéTGnaT%ldﬁﬁrﬁEﬁﬁTaﬁwhgnf%ﬂFﬁ

1.24
2.23
3.21

4. 22

Correct Answer :-

12) If MYSORE is coded OREMYS, then how is CRADLE coded? / qﬁ' MYSORE &I OREMYS ¥

PIfSd {1 Sa1 8, @ CRADLE &) $1 Fifsa far S
1. DLECRA
2. CRAELD
3. ELDARC

4. ARCDLE

Correct Answer :-
« DLECRA

13) Select the option that is true about the Statements and Conclusions given:

Statements:
All cowgirls are extraterrestrials
Some cowgirls are not hamlets



Conclusions:
I. Some extraterrestrials are not hamlets
I1. All hamlets are extraterrestrials

1 39 fased &1 991 BT S {6 3T 7T ST 3R fFrewel & ar & gl §:

BY:

9t HTITd UL

O DI STUH AL &

fAryed:

L $B WIS IUUH 81 &

1. T ST R

1. neither conclusion I nor conclusion II follows /T & F5HY 1 3R 7 & FASHY 11 SR 1 §
2. both conclusion I and II follows / FSHY 1 3R 11 G IR0 R §

3. only conclusion 11 follows / BHad (SHY 11 SHRUT HT §

4. only conclusion I follows / PHad [HY I SR Hdl g

Correct Answer :-

« only conclusion I follows / Had FSHY I TRV HRl &

14) Select the option that is true about the Statements and Conclusions given:

Statements:
Some acrobats are lambs
All lambs are soldiers

Conclusions:
I. Some acrobats are soldiers
I1. All lambs are acrobats

/ 39 fapey &1 g Hifore s fP 2w e Hy=T iR fArepul & ar A T8t 8:

HY:

FOTCHAAE

Tt A A §

Ay

LD TN

. g AT e §

1. neither conclusion I nor conclusion II follows /7 & FT5HY I R 7 & FSHY 11 S/TTRT Hd &
2. both conclusion I and II follows / FSHY 1 3R 11 ST TR0 B &



3. only conclusion II follows / Pad [spy 11 S{FERUT pdl 8
4. only conclusion I follows / Hdd FSHY [ STV BT &

Correct Answer :-

« only conclusion I follows / Had s | STV hXdl g

15) Select the option that is true about the Statements and Conclusions given:

Statements:
No fruit flies are catfishes
No elms are fruit flies

Conclusions:
I. All elms are catfishes
I1. Some fruit flies are catfishes

1 39 fased &1 T ST o {6 3T e Syl ok frepel & ar & 9l &:
BY:
BIE TeH BEHTEDT T8 3
Ay

1. 9 eH Pefrar §

1. $O BAHTEST Fefth §

1. neither conclusion I nor conclusion II follows /1 & fs I 3R 7 €} Feh 11 TR0 HRa §
2. both conclusion I and I1 follows / FsHY 1 3R 11 GIFT TR0 H3d &

3. only conclusion II follows / ad fASHY 11 STIR0T BT &

4. only conclusion I follows / Hdd FHY [ TRV BT &

Correct Answer :-

« neither conclusion I nor conclusion II follows /= &1 FsHY 1 3R 7 81 FhY 11 SFIXRUI HRd &

16) Select the option that is true about the Statements and Conclusions given:

Statements:
No insects are pants
Some pants are cowboys

Conclusions:
I. Some cowboys are insects
I1. Some cowboys are not insects

/ 39 fapeu &1 a4 Hifore Sl fP 2w e Hy=T iR fAepul & I A I8 2:



DY:

PIS PIE TAGH el &

PO AT IRATE §

FFro:

L. TS TRATE P &

1. $3 IRATe BIc 81 &

1. neither conclusion I nor conclusion II follows /- éT ﬁmﬂh \3?|T “ éjf ﬁWﬁf 1T 3AFERT GG %
2. both conclusion I and II follows / 5 1 3R 11 &1 STTERUT A %

3. only conclusion IT follows / FHad fspY 11 TR HdT %’

4. only conclusion I follows / Pad fAHY [ STIRN HRl g

Correct Answer :-

« only conclusion II follows / Had FHY 11 TRV BT §

17) If written backwards, the number 'Three thousand seven hundred and fifty two' would be

written as: /qﬁtﬂ@'ﬁﬁl@, IR EC: | ‘?ﬂ'—rsﬁn?mﬁaﬁ? aﬁmwﬁﬁi@m
1. Five thousand seven hundred and twenty three / Ui 89IR I91d ar ééﬂ

2. Five thousand seven hundred and thirty two / UTd IR ITd Qs

3. Two thousand five hundred and seventy three / E(Pf BUIlR g ﬁf ﬁ%?ﬂ

4. Two thousand seven hundred and fifty three / 3l 59k 91d 1 favg=

Correct Answer :-

e Two thousand five hundred and seventy three / E(Pf IR g ﬁf ﬁ%?ﬂ

18) In a certain code language, cam loe tri means died down he, moc tri jes means clouds pour down,
tri poz cam means down he goes. Which is the word for goes in that code language? / Th WY IS
YT ﬁ, cam loe triw®1 Y died down he, moc tri jes 1 3 ¥ clouds pour down, tri poz

%-amwranf downhegoesﬁ?ﬂ%l Wﬁgwﬁgoes%ﬁﬁmwmwmw

1. cam
2. poz
3. loe

4. tri

Correct Answer :-

. poz



19) The British defeated in the Battle of Plassey. / SR A W$§a i G|
RN

1. Aurangzeb / TSE
2. Siraj ud-Daulah / %I?I@-G"aik_ﬁ

3. Mir Jafar / §R SR
4. Tipu Sultan /‘cﬂqw

Correct Answer :-

e Siraj ud-Daulah / %RIGI—SE:WI

20) In aclass of 60, where girls are twice that of boys, Kamal ranked seventeenth from the top. If there
are 9 girls ahead of Kamal, how many boys are after him in rank? / 60 faenfial &1 U DEl ﬁ:, forad
aSiPai, TSB! | L 8, FUA DI MY A TAT RIT YT 31T 8 | i FHS | Ugdl o ASfbai
g O ISP 915 & W A de@] 31 w@ fera 82

1.23

2.12

3.32

4.7

Correct Answer :-

21) Who is the chairman of Railway Board? EGEE K A& Cac| %:?
1. Ghan Shyam Singh /aqsqmﬁi‘s'

2. Ashwani Lohani / G{%TﬁF‘hgl:ﬁ

3. Anil Kumar/?’fﬁlaw

4. Amitabh Kant / 3fHdTH T

Correct Answer :-

« Ashwani Lohani / 3%t F“E el

22) Find the odd one out: / T fquH JTd PIfoE:
1. Patna / UcCHl

2. Hyderabad / %azlala
3. Nagpur / NTYR



4. Kolkata / HIABTAT

Correct Answer :-

« Nagpur /YR

23) Madhya Pradesh has won national-level awards under the Sakshar Bharat Yojana in 2017. /

ku%aﬁzonﬁw&ﬂtmﬁ—wﬂ?eiaﬁa_w@mwwﬁﬁ%%l
1.3
2.6
3.7

4.4

Correct Answer :-

24) The Defence Services Staff College (DSSC) is located at /T JqT W Pl

Clgwged) A fR@e
1. Secunderabad / R aRIETg

2. Wellington / afefiTes

3. Ajmer/ 3STR

4. Bhopal / Hiard

Correct Answer :-

e Wellington / afeitTed

25) The headquarters of the Election Commission of India is located at v ﬂ-ﬂ?_cﬂ'qw

STENT BT =T # fRa gl
1. New Delhi / 5 fewett
2. Kolkatta / BICTpTdl

3. Mumbai /Hﬁg
4. Chandigarh / a@m@_

Correct Answer :-

e New Delhi /Ts‘ﬁ?vﬁ

26) The Champaran Movement was against ./ IYROT \’rl'la?FT _é? ﬁw YTl



1. British Officers / faIfc =1 fAHRY
2. Doctrine of Lapse / SIUTd &1 RigI (U HIfd)
3. Indigo Planters /=l ST H1ferehl (Er%jﬁl?lﬁﬁ)
4. The Munro system /Wm

Correct Answer :-

« Indigo Planters / il ST HIfeiah] (3fe7 |13‘|'Eﬁ)

27) Hindola Mahal is located at . %@WW ﬁ'f@ﬁ%l
1. Patalkot / UTdTdRIC

2. Chanderi / aéi

3. Mandu / ATg
4. Khajuraho / ¥ é|

Correct Answer :-

« Mandu/HTg

28) Where is Kapil Dhara waterfalls situated? / HIUAURT STA9UTd Hei fRUT %?
1. Orchcha / 3BT

2. Dewas / Gd

3. Raisen / X4

4. Amarkantak / 3R Ch

Correct Answer :-

« Amarkantak / R Ch

29) In arow of boys, A is the thirteenth boy from left and D is the seventeenth from right. If, in this row,
A is the eleventh boy from the right, then what is the position of D from the left? / asﬁﬁ Udh ufed
H, A 9T¢ A Aedi ASHT ¢ 3R p 31T A Agdi 21 afe, 33 UfR & A ST q Rgdi asHTI 2 dl D
P 91T 3R | T fRUfT 32

1. 12th

2. 6th

3. 7th

4, 10th

Correct Answer :-



30) The National Police Academy in Hyderabad is named after . /mﬁﬁwm
THSHI HTAH & ATH W @1 T

1. Jawaharlal Nehru / STaTgR AT A8

2. Sardar Vallabhbhai Patel / GRGR delHHTS Ucd
3. Lal Bahadur Shastri / ¢c] d6IgR R
4. Indira Gandhi / gié?l Tﬁ'iﬁ

Correct Answer :-

e Sardar Vallabhbhai Patel / 9RgIR dvﬂ“—[ﬂ-ﬂg Ucd

31) 'Harit Diwali, Swasth Diwali’' campaign has been launched by . 'Eﬁ?‘[ T:ﬂﬂ'l?ﬁ,
W fearett st P GIRT IR frar T 8|

1. Ministry of Culture /mw
2. Ministry of New & Renewable Energy / T 3R TdtHRT Sull HaTerm

3. Ministry of Tourism | Wi HATE

4. Ministry of Environment, Forest & Climate Change /UTI‘THTUT, ECEGEIRSNEIR! uRdd- HATeY

Correct Answer :-

* Ministry of Environment, Forest & Climate Change /uﬂfaw, EEGEIRSNEIR! uRad FaTed

32) Who was the Mughal emperor during the rebellion of 1857? / 1857 * ﬁﬁ? * aTIT'T HITd YIS

B A2
1. Aurangzeb / RTSE

2. Akbar Shah Il / 3{hdR R[TE II

3. Sirajuddaulah /ﬁﬂﬂaﬂﬁ

4. Bahadur Shah Zafar / dglgX RITg W

Correct Answer :-

« Bahadur Shah Zafar / dglgX RIg Wt

33) International airport received the Cll National Award for ‘Excellence’ in Energy
Management. / SRTPIT gaTs o B! Hwl Yo & &7 H ISPyl & forg cn g
RIHR Ue far mam|

1. Kochi /?ﬁ%



2. Hyderabad / %EQIQ Q
3. Bhopal / |

4, Chennai/ a:ﬁ

Correct Answer :-

e Hyderabad / %azla Q

34) Which Indian Metro has become the ‘World’s First Green Metro’ for its eco-friendly Initiatives?/

e ¥ 9 o1 It A s yafavor i srdw il & SR fava @1 ugdl A A a1 82
1. Kochi Metro / ife T

2. Delhi Metro / f&eeil Al

3. Mumbai Metro / §&g Hel

4. Kolkata Metro / SIcTepTdl Hel

Correct Answer :-

« Delhi Metro / el Hel

35) Who among the following is a famous painter and has been honoured with the Shikhar Samman

in 19812 / 19 & A P19 v ufig iR @ oik o/ 1981 A RRer = I gwarf=ra foear wan
U1?

1. D.J. Joshi / SIS, STt
2. Vishnu Bhatnagar / ﬁ'ﬂﬂ HCATR
3. Syed Haider Raza / TG g ol

4. V.S. Wakankar / 9.0, GTHUIHR

Correct Answer :-

« D.J. Joshi / S1.51. SIf

36) The Public Service Delivery Guarantee Act was passed in Madhya Pradesh in the year

/AP TaT fARu IR s v uemrdad # uifva fopam mar am
1.2012
2. 2008
3.2010

4. 2014

Correct Answer :-

» 2010



37) Complete the series choosing the missing number: / & BT ABT YT Bl TR

FifoT:
2,6,18,54,
1. 158

2. 162

3. 164

4. 160

Correct Answer :-

38) Complete the series choosing the missing number: / Y& &I BT FEAT BT [T BIFOIT:
480,120,40,20, _

1. 10

2.20

3.5

4.15

Correct Answer :-

39) Complete the series choosing the missing number: / T J&AT AH Yl Ca| T PifoTT:
121, 143, 165, , 209

1. 188

2. 187

3.190

4. 186

Correct Answer :-

40) The series given below contains a sequence of numbers. Identify the incorrect combination:

/A & 7 g §, Tensi #1 v Bv IufRd ¥ Tad Gaie ugane:

90, 66, 45, 28, 15, 6, 1



1. 28
2.6
3.45

4. 90

Correct Answer :-

* 90

Topic:- Mental Ability and Mental Aptitude

1) In covering a certain distance, the speeds of A and B are in the ratio of 3 : 4. If B takes 30 min
less than A to reach the destination, the time taken by B to reach the destination will be: / Tdh
A g P aaHAH, A 3R 8 BT ATA 3: 4 F U T ¢ 1 FS ifod 9% Uga- H B BT A H 30
frre $1 @1d § 1 Tiqey 9@ ugeq | B & TUY T

2 %hrj’ 2
1. =

2[4

ko | =

llhr,ﬂ' 1l HeT
2 2 2

3.2hr/ 29¢

4, 1hr/ 149cl

Correct Answer :-

1

1—hr/ 1l HeT
2 A

2) Find the average. / 3Ngd fAeiferd |
82,84, 88,96,76 & 72

1. 81

2. 85

3.83

4. 86

Correct Answer :-



In the sequence shown below, which figure comes next? / i fd T %y ¥, SrTeit GI'IQTI%T
oI 4t smatt

ceo0
8
000

88
coC
@8

L 4 2=
00

i A

o0e
[ X ¥ ]
o0

i 1] 41 v ¥

00
LR R
L L L

020
¢o0
0 0e

00
000
“00

el 1 J
LA X J
L L L

4.

Correct Answer :-

200
oo
o0

4) In the sequence shown below, which figure comes next? /R ﬁ'& T HH ﬁ, 3[Te
THid B A A




-
1. e
2. L
L]
3. 2
4. 2

5) The series given below contains a sequence of alphabets and numbers. Identify the
incorrect combination: /:ﬁ% T:ﬂ 11'5‘ 81@?“ ﬁ, G{&Iﬁ GﬁT H@T\’rﬁ DI UD hH ﬁ'%?f %I Meld
HAYe UgaIg:

i.gghjb3001jbhbb

ii.gghjb3001jbhbb

iii.gghjb3001jbhhb

iv.gghjb3001jbhbb

1. il

6) Raju’s brother was 4 times older to him 8 years ago. His brother would be 2 times older to him
four years from now. Find Raju’s age. / XTS] T ‘N'Ig, 8 ﬁgﬁm ATATIST YTI 3 | IR atf
YT ITDT YIS ST 2 AT IS FHIT | IS D1 AT [T B |



1. 16
2. 14
3.8

4. 32

Correct Answer :-

. 14

7) Find A and B, if 2A +3B=21,A—B=3./df¢ 2A+3B=21,A-B =3 dl A 3{i¥ B JTd HI |
1.3,6

2.9,6

3.6,3

4.12,9

Correct Answer :-

8) If the following two squares shown below overlap, which one of the following options is

formed? / afe frw &Y ot sifdrenia 819 € @Y P & @ &9 91 v fashed aaT1 22

1
|




&

Correct Answer :-

&

9) When a picture was marked at Rs. 90, it was sold at three-fourth of its marked price. Find the sale

price of the picture./Wﬁﬁ“%?ﬂ'&ﬁmﬁ?&ﬁ,qﬁﬁﬁiﬁﬁﬂ@ﬁ?ﬂﬁiﬁmﬁww
T 4T | o 1 fasha gea 3rd 3

1 1
Bs 83— /88— TUd
1. 2 2
1 1
Bs67— /67— BU
2. i )
1 1
Rs. 99— /99— TOI
3. 2 )
1 1
Bs.77— /77- TOd
4. 2 2
Correct Answer :-
1 1
Rs.67 ,fﬁ?; U

10) In a class, each student had enrolled either for French or German or for both. The number of
students enrolled for French is two times the number enrolled for German. The number of students
enrolled only for French is three times the number enrolled only for German. Which among the
following is a possible number of students enrolled for French? / Th D ET ﬁ, W BIE] C| TIT?ﬁ ﬂﬁ[ qr
S a1 @ & e A fergaman uT1 % & e A feram= arel o, w19 & fore A forem
a1l | A € | pad a & fore A forem aret o daa s+ & o 7w e arel & 9
1 8 | Frafefaa & 3 e & fore wwnfaa fram o = 1w Rraaman 82

1. 67
2. 45
3.38

4. 48

Correct Answer :-



11) Find the value of: / T JTd ®:
(5*2)-5+((20/ 4) /10)

1.5.5

2.20

3.10

4.2

Correct Answer :-

12) The difference of two numbers is 12 and 20 % of their sum is 12. Find out the numbers. /a

T3 BT 3R 12 § 3R T TG DT 20% , 12 & | FSATE JTd BY |
1.30 and 18 / 30 3R 18
2.36and 24/ 36 3R 24
3.38and 36 /38 3R 36

4. 44 and 32 / 44 3R 32

Correct Answer :-
« 36and 24 /36 3R 24

13) Twelve men can do a piece of work in 10 days. After they have started for 6 days, 4 more men join
them. How many days will the men take to complete the remaining work? / 12 Y9 T T B 10
a1l o % TP d &1 3P GRT BT URY F & 6 &7 U, 4 3R [T 9P 1Y WA g o1
21 7= ) A9 R B B | fran fgq e

1.2days/2ﬁ:f
2.4days/4ﬁ:f
3.5days/5%'_‘f
4.3days/3ﬁ7‘f

Correct Answer :-

« 3days/3feA

14) A 35 cm line is divided into two segments in the ratio 3 : 4. The length of the longer segment is: /

TH 35 QU WPV 3: 4 & U & &t Wsi A fyunfora foran man 8| 6 T 3t oS 2:



1. 15 cm /15 At
2.18 cm /18 T
3.20cm /201?{11?[
4.11cm /11 99

Correct Answer :-

e 20cm /ZO@Iﬂ

15) Ratio of ages of three persons is 4:7:9. Eight years ago, the sum of their ages was 56. Find their

present ages./?ﬂﬁmﬂﬂmﬁéﬁqﬁmﬁQ%I maﬁqﬁ,sﬂaﬂengmm 56 UTI
IAPT TAUT 3T T DR |

1. 16, 28, 27
2. 16, 28, 36
3.12,28,36

4. 16, 35, 36

Correct Answer :-
« 16,28, 36

16) IfP:Q::2:7;Q:R::3:2;andR:S::1:4;then,P:S::?/qﬁP:Q::Z:7;Q:R::3:2;3ﬁ?R:S
::1:4;?ﬁP:S::?

1.3:28
2.3:8
3.2:8

4.2:21

Correct Answer :-

17) Goldberg sold his villa for USD 20,400 at a loss of 15%. What would have been the selling price if he
were to earn a profit of 15% on its sale? / oSt A 3= fadT B 15% B ET&T > 1Y 20,400
quae! R 99 f3an afe a8 59 fasma W 15 % ary sifsta &= awar ot ot fasea gea «ar gim?

1. USD 27,600 / 27,600 JUHS!
2. USD 24,600 / 24,600 JUHS!
3. USD 24,000 / 24,000 gUHS!

4. USD 26,400 / 26,400 JUIS!



Correct Answer :-

« USD 27,600 / 27,600 JUIS!

18) The average of two numbers is 32. If 6 is subtracted from the larger number, then the ratio becomes

5 : 3. The larger number is:/a'\‘i@TGﬁWGﬁ'\qﬂﬂgl uﬁa@‘.’rm'ﬁsaﬁmﬁmma‘r
U 5 : 3 B ST &1 TS WS 2

1.42.25

2. None of the above / SRIgd § I ob\lng@P[
3. 48.23

4.52.51

Correct Answer :-

e 42.25

19) The length of a rectangle increased by 20%, and its breadth decreased by 20%. What is the change
in its area? / Uk 3(Td B GaTS 20% TP TS SITd! & 3N ITYB! ANSTE 20% dP TT <1 STl B
IS &A% d foraar ufvad= gime

1. No change /ﬁs‘uﬁaﬁﬂﬂﬁ

2. None of the above / SRIgd § I Oh\lsrTEﬁ

3. Decrease by 4% / 4% q® HH!

4. Increase by 4% / 4% W@@

Correct Answer :-
» Decrease by 4% / 4% qb HH!

20) Susan got married 6 years ago. Today her age is 1% times that at the time of her marriage. Her son is
1/6 as old as she today. What is the age of her son? / gﬁ-—r oI faarg 6 a’ﬂfﬂﬁgx’rﬂl 3T SADT 3y,
IS faaTe & THT A 1 % TAT 8 | STDT Y ITD! TS DI 3T BT 1/6 81 TP YA P 3TY T 3?2

1.6
2.5
3.3

4.4

Correct Answer :-



21) A and B start from the same place at the same time, and in the same direction with the speed 40
kmhr and 45 kmhr respectively. After 2 hrs, find who will be ahead, and by what distance? / A Gﬁ? B,
T R J, T 0T W 3R a1 fa=m § 40 foedt ufer ger 3w 45 fedt ufa ger = 3t
AT & 1Y URTY Hd 8 | S 6 TYTd [T D+ fb DI 31 g1 3R fra=it gt & omit gme

1. B, 20 km / B, 20 Top T
2.B,10 km /B, 10 THHT
3. A, 10 km /A, 10 fHT

4.A,20km /A, 20 fHT

Correct Answer :-
« B,10km /B, 10 fhHI

22) A buys a double bed for Rs. 2600 and sells it to B at gain of 15 %. B sells it to C at gain of 10 %. What
does B charge from C?/A,WWQ@'@ZGOO mﬁ@ﬂw%eﬁvsaﬁﬁ%%muwaaam
2IBSACH 10% S ATH R AT AT 21 B 7 ¢ A FIT Yop foran 82

1. Rs. 2289 / 2289 3UY
2. Rs. 4289 / 4289 U
3. Rs. 1189 / 1189 ST

4. Rs. 3289 / 3289 ST

Correct Answer :-
« Rs.3289 /3289 30U

23) If a pen is sold at list price, it will fetch a profit of 20 %. When a discount of 10 % is offered on list
price, it will fetch a profit of: / Tf¢ TP HaH JAt-H1Ad R fIsha gidl 8 O 98 20% T a1H AT |
T - BT W 10% B Fe WS B STl @ @ 98 g1 Ay -

1.125%
2.8%
3.12%

4.10%

Correct Answer :-

24) A wire is shaped into a circle of radius 7 m. If the same wire is reshaped into a square, find the area

of the square. / T® dR &1 7 Hiex 3t w01 & g0 &1 PR o mar 31 afe 33t ar &1 e @ ot
o SR fear we ot o o1 erw e g B

1. 44



2.49
3.11

4,121

Correct Answer :-
o 121

25) How much will 15 men earn in 6 days, if 12 men earn Rs. 840 in 7 days? / 6 ﬁ‘ﬁﬁ 15 Wﬁv_d:ﬂ

HUTE, gfe 7 fa # 12 T9 840 U FHHG 32
1. Rs. 900 / 900 3T
2. Rs. 880 / 880 ¥UY
3. Rs. 940 / 940 ¥4

4. Rs. 970/ 970 WY

Correct Answer :-

« Rs.900 /900 3T

26) Which one of the following four addresses is NOT EXACTLY same as the one given below? /

4 33 T R uel # 9 i ol T ud & St aHE S |91 v 81 82
Michael U. Regina
Forsthausstr. 14,

Friedberg Hessen, 61169

(i) Michael U. Regina
Forsthausstr. 14,

Friedberg Hessen, 61169

(ii) Michael U. Regina
Forsthausstr. 14,

Friedberg Hessen, 61169

(iii) Michael U. Regina
Forsthavsstr. 14,

Friedberg Hessen, 61169



(iv) Michael U. Regina
Forsthausstr. 14,

Friedberg Hessen, 61169

4. iii

Correct Answer :-

27) Ravi starts from his house towards his school. After walking for 3 Km, he takes a right turn and
walks 4 Km. He once again takes a right turn and keeps walking. If he is now facing south, in which

direction did he start walking when he left home?/ﬁmﬂ?ﬁmﬁéﬁ?mal 3

ot e & ugyT 9t ST¢ gar @ SR 4 i gaar 31 91 b | g gear @ iR gadar ¥gar 2|

%@Wﬁﬁ&maﬁaﬁ?m%a}waﬁwﬁﬁwmaﬁmﬁﬁqvﬁﬁmﬁmm
UT?

1. South / Gf&T
2. East/t@c
3. West/qf%l'q

4, North / 31X

Correct Answer :-

e North /3R

28) Mallesh said to his son, “l was as old as you are at present at the time of your birth”. If the
Mallesh's age is 40 years now, the son's age five years ago had been: /Tlﬁ'QT q 3= E] I Dol

«qET O & T R T Ia-1 & 787 AT e 98 311 gH 81 1> Tfe 7= &Y 31g 3 40 94 &, it
T3 1 31g e a¢ gd et i

1. 15 years / 15 a'&f
2. 17 years / 17 CL
3. 12 years / 12 CL

4. 10 years / 10 CL

Correct Answer :-

e 15years /15 CL



29) The least number that must be subtracted from 316 so that the remainder is exactly divisible by 41

is: / T8 <ga¥ =T o 316 | T g1 foras fr [uwd, 41 & gl w0 I fywifoma g 3, 2:
1.29
2. 17
3.23

4. 35

Correct Answer :-
e 29

30) The average age of a class of 30 students is 20 years. When 5 new students joined the class,
the average age of the class increased by 0.3 years. Find the total age of the new students. / 30

BT Bt TS H&T |, 3d 31 20 99 3| 91F 5 ¢ ST H&T A M g1d & o B&1 3t 3fa 3y
0.3 TYI a% ¢ STl 8 | 7T BTHAI B ST 3T T Be |

1. 100 yrs /100 TS
2.120.5 yrs /120.5 T4
3.110.5 yrs /110.5 T4

4. 115 yrs /1153'5f

Correct Answer :-

e 110.5yrs /110.5TY

Topic:- Science and Simple Arithmetic

1)
In a circle a cvclic quadrilateral PQRS has PQ parallel to BES and #5P() = 83°. Then Q) will be:

/ U gcd A, U HhIT IdeT PQRS T PQ. RS & THATAY ¢ dal £SPQ = 83°¢| @9 £Q gII:

5 103°



Correct Answer :-

2) Simplify: / X L

ﬂ._E

al®b3cx(a®xb?)

a_L1 b_s —

c
1.
2.5 2
a“b " c
2.
37,-10 .2
b
3.

4 ﬂ,‘l} biﬁlﬂ'_‘

Correct Answer :-

3)
The sides of a triangle are x* 4xy +7. 4x? +5xy + 3 and 8 -3x? +3xy. Its perimeter will be: / T

ﬁ'ﬁgﬁ[ &l EjEITl'?KE Axy +7. 4x2 +5xy + 3 0T 8 -3x2 +5xv %‘I SHhI T TE gIat-
1, 2x2+18

5 bxy+ 18

3. x4+ 6xy+ 13

4. 2x?+6xv+ 18

Correct Answer :-

2x!+6xy+ 18

4) In the given figure, BE|DF, £AOB = 110°, then 2OCF=7/ ar Tl_é 31'@% HBE|DF, £AQB =
110°, Ar20CF=?



L 70°
5 80°
5. 30°

4, 60°

Correct Answer :-

faanfaa fohar S 3t (T e g

4 6y2+6y+12

Correct Answer :-
, 6vi+6y+12

6) A man is 26 years older than his son. In 3 years his age will be twice the age of his son.

The present age of the father is: /W&rra'lﬂamﬁgarﬁm a'ﬁfa'@'ﬂ%l 33’5ﬁﬁ3ﬂ3’ﬁ\’rﬂ'§
IS TF B 3G A S g g | fren 3 oA oy #:

1. 49 years / 49 G
2. 40 years / 40 a9
3. 46 years / 46 Y

4. 42 years / 42 GL

Correct Answer :-

« 49 years /49 a9

7) Find the amount on Rs. 32000, when compounded semi-annually for 1 % years at the rate

of 10 %. / 32000 FUYY TR IR [T B¥, TGP 10% BT &R A 1% 99 a - aiffe awpafes
TS SedT g

1. Rs. 41044 / 41044 U



2. Rs. 39044 /39044 ¥UU
3. Rs. 37044 / 37044 ¥UU
4. Rs. 40000 / 40000 @YU

Correct Answer :-

« Rs. 37044 /37044 24U

8) Two dice are thrown in a single throw. What is the probability of getting a sum of 9? / E.Pf

U U9 g1 IR A % oTd & 1 TP d & =9 § 9 YT g4 91 UTRISGdT 3T 82

w
=1 =

=R

4.

Correct Answer :-

9) Mangoes were bought at Rs. 72 per dozen and sold at the rate of Rs. 80 per 10. The gain

percent would be:/&nﬁﬁnmwﬁraﬁqiﬁaﬁ@ﬁawamsomuﬁ 10 91
&% | o1 4T | AT UfRrd -

33 Log
2. 3
3.17.5%
4.13 %
Correct Answer :-
33 Log
3

10) The complement of an angle is one-fourth of its supplement. The angle will be: / T

DIV BT R YD RSP HT UH-AYTS giaT 8 | HIVT gHT:



1. 60°
2. 65°
3.45°
4. 55°

Correct Answer :-

. 60°

11) The cube root of ( 0.512) is: / (0.512) BT T-THd &:
1.0.8

2.0.6

3.0.5

4.0.7

Correct Answer :-

12) The total surface of a cylinder is 220 sqcm and its height is 6.5cm. Its volume is: / T

VAT BT P G 220 T AR B TUT TP ST 6.5 AHIex 81 THDT 3Maa o

1. 220 25 cm?/220.25 §HP
5 255.1 em?® /255.1 §HP
3. 25025 em? / 250.25 AP

4 210 5 em?/210.5 FH?

Correct Answer :-
. 25025 em? /25025 TR

13) The difference of the largest possible 4-digit number (no digits repeated) and the smallest
possible 4-digit number (no digits repeated) will be: | S a@ﬁ T 4 3idl P @&
(PIS 3P ST 78] WTT) 3R T i) HHIAT 4 3P| B TBAT (PIS 3ip Srgrar 7}
1Y) BT 3R A gI:

1. 7089

2. 9899

3. 10000



4. 8853

Correct Answer :-

« 8853

14) The smallest number by which 3150 should be divided to get the quotient as a perfect

square ls/m%wﬁwwﬁwm%mﬁmﬁmwaﬁ,
s gIR1 3150 &1 favnfora fear s =nfgu:

1. 14
2.7
3.21

4. 28

Correct Answer :-

15) The area of a rhombus is 36 sqcm and one of its diagonals is 4 cm. Its perimeter is: / T

g T &A% 36 T Ahitex 8 auT s9P1 fawpul 4 Aéhfiex 81 3@ ufea &:
1 /85 cm /44/85 T

, VB3 cm /B3

3. 2v/83 cm / 2V/83 [T

4.82 cm/ 82 I

Correct Answer :-

4+/85 cm / 4+/85 HHT

16) When all the parallel rays reflected from a plane surface are not parallel, the reflection is known
as: / 79 G JUMTGR fHvol Irde gy & wrafdd gt §, @ 3 guHiar 981 T8 €, a8 WRiadq
Y U § ST ST 8

1. Multiple reflection / E@ﬁ‘lﬂ WRIG
2. Diffused reflection / fGTRd TRTad-
3. Internal reflection / 3T TRTGC
4. Regular reflection / frafta wrad4

Correct Answer :-



« Diffused reflection / TAGRT WRIad=

17) Which of the following has a thin layer of cytoplasm with a large central vacuole? /ﬁlTFT k|

frad o<t Hia RfsaeT el ATseIqars] @ $1 TP Uael wd gid 87
1. Bacteria / G‘ﬁaTQI

2. Virus / fauT
3. Animal cell / U] CAIRED]

4. Plant cell / UTCU DIRIPBT

Correct Answer :-

« Plant cell / UTGU IR

18) Which of the following is a neutral oxide? / T ® ¥ 19 v IgRAA siferss 2
1. SO,

2. N,Os

3.CO

4. CO,

Correct Answer :-
« CO

19) Which one of the following is NOT a member of the solar system? / ﬁTFT qd Call R yomett
BT TH ASHT Tl 872

1. Comet / W

2. Pole star / ¢d dIRT

3. Satellite / 3UYUgG
4. Constellation / dRTHS A

Correct Answer :-

« Constellation / ARTHS A

20) Loss of water vapour from the surface of the leaves is called ./ af<rdl @ gag |

e Ty a1t e Fgard gl
1. Transpiration / aTﬁ[Enﬁﬂ\_rT_"f
2. Transportation / gfagd



3. Translocation / IR

4. Evaporation / AIYU-

Correct Answer :-

e Transpiration / aTﬁ[Enﬁﬂ\_rT_"f

21) A heavenly body burning like a star and rushing towards the earth is known as: / T STHTRIT
fifs it R F} aE oI 8T © TUT Pt B O 9¢ 8T 8, S 59 719 | 1 STl 8:

1. Sirius / ST
2. Comet / W

3. Satellites / 3UUgG

4, Meteor / 3c¢h]

Correct Answer :-

e Meteor / Jeh]

22) Why did Rutherford choose gold and not any other element for his experiment? / TEIWIS A

3A YANT & forw Pt o ded &1 99+ 181 B Had Wqul BT g 99 i fran

1. Due to its high conductivity / 3P| I ATAD T &b HRU|

2. Due to its high density / 39 3 G-I & HRUI
3. Due to its high malleability / 3D I STATIILTIT & BRI

4. Due to its high ductility / 3] 3= AT & BRI

Correct Answer :-

« Due to its high malleability / 3! 3= TATAAYTTAT & HRUI

23) Iron vessels are coated with tin to: / ?ﬁ% & Ul &t fe A afud foear sirar %:
1. Increase the strength / Iﬁ@fﬁ a_d'lef & forg

2. Increase weight / HIX o ‘q’@ & o forg

3. Prevent rusting / SI¥T P AHYUH & forg

4. Give better shining / \H?Kﬁ TP ¢ & g

Correct Answer :-

« Prevent rusting / ST DI AHYH & oy



Amoeba acquires its food through a process called ./ AT TFH UfehaT & ATeaH | 3T
IS YT Heal § St S gl

1. Plasmolysis / W
2. Endocytosis / TSR IR™

3. Endosmosis / 3id: TR

4. Exocytosis / Qm@ﬁm

Correct Answer :-

» Endocytosis / Q_@Iﬂ'lgaﬁm

25) The openings in a cockroach’s body through which it takes in air in its body for respiration are

called /T faeag & IR ¥ 9 fog oM areaw 3 98 499 & e 3= IRk | arg aan
8.3%_  @gladrgl

1. spiracles / YTERY
2. hydathodes / STeRY
3. trachea / Y-l
4. nostrils / TG

Correct Answer :-

« spiracles / YTERY

26) Identify the feature that is not applicable to ploughing. / 3 fatwar #1 Ygdid a'ﬂﬁl'll Eli ﬁTﬂg
& forg Sugea AE 71

1. Tt allows the roots to penetrate deep into the soil. / m \_YIT-E-‘r TIETIEF do Hal H Dﬁ? BT %'I

2. It allows the roots to breathe and brings the nutrient rich soil to the top. / g Tﬂ@ P Y A | e
ST & 3R 2 e e T HaT Bl AT B

3. It helps in the growth of earthworms and microbes. / g ﬁ\’rﬁ 3R ﬁ&mﬂa‘r G| q@ # Oee HRal g

4. Tt protects the crops from getting affected by pests. / Ug Al Pl WRUGAR I gHTfad gﬁ%{ EEEIGI] % I

Correct Answer :-
It protects the crops from getting affected by pests. / g Hdl Pl WRUGAR I gHTfad aﬁ EEEIGI] %’ I

27) Identify the high yielding breed of buffalo from the following. / fFT & ¥ I¥@ IquTe- arat
UG P 7 DI Uga= B

1. Sahiwal / TigdTd

2. Karan fries / D lgl



3. Jersey/\_rlﬁ

4. Murrah / HTf

Correct Answer :-

e Murrah/ 'ER'f

28) Identify the correct order of the processes used in the purification of water before supplying it as

drinking water? / OSTd & %0 # 3MYfd 11 & Ud oTd & Y b0l § Ugad gi- arcil ufsarsii &
TG 8 DI UG B2

1. Loading, filtration, chlorination, sedimentation / HIRXUI, F‘I%‘«id"l, dﬂ\lé\lﬂd, Il

2. Sedimentation, loading, filtration, chlorination / YT, HIRUI, i'\'l%tid"l, FART

3. Filtration, sedimentation, loading, chlorination / i.'\'l'{'bid"l, ST, HRUT, FARTT

4. Chlorination, loading, filtration, sedimentation / ?ﬁ'ﬁﬁ:ﬂ, HIRUT, ﬁmﬁ, Al

Correct Answer :-

 Sedimentation, loading, filtration, chlorination / 3ddTg-, HIRUT, ﬁw’a?, FARA

29) Spot the WRONG statement about phloem tissue. / FIICH $d® & fawg ¥ Ted HYT BT

II BT
1. They are living/aGﬁﬁH%I
2. They have thin walled cells / 3-TH Tdeil ffxT aTel IfRIATE Bic § |

3. They transport water and minerals from roots to other parts / CRNECEEEEIED \_FE}f | U YT dh
. %: |

4. They transport food from leaves to other parts / 3 gRial ¥ HisH &l S U A trg%n?r %I

Correct Answer :-

» They transport water and minerals from roots to other parts / CAS K| Td LCIE I \_rl—bpf | S YT I

Uga gl
30) Spot the CORRECT one. / &I fdwey fafga &¢I
1. Cells > organelles > organ > organism / ﬁﬁm > PHIRIBT > 37> g
2. Cells > molecules > organelles > organism / aﬂm > 3] > 3T > Sid
3. Cells > tissues > organ > organ system > organism / W > 3dd > 3T > T dF > S

4. Atoms > cells > organ system > organism / 3{U] > aﬁw > 3T T > Sild

Correct Answer :-

 Cells > tissues > organ > organ system > organism / DIRMBIY > Hdd > 3T > 3T dF > S






